
 

Greedy algorithms contd
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PrefixpropertyFor any two letters u and re Enc m

is not a prefix of Enc re and vice versa

For any node encoding is described by the path

from soot to that node Any letter only appears

at a leaf n't o

I and I ane
sit Eneen is a prefix ofEndy
In is an internal node
on path from soot to re

n cannot be a letter as
letters are on leaves

Task Construct optimalprefix trees given a document
p text
wit angdepth

ShannonFano schemes

Split s into 2 parts S andS sit probut spy purse

Prob Is This scheme won't always work
EqusPartition can be hard to come up with



Huffman Coding
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Idea Smallest depth for most frea characters
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Largest depth for least free characters
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Pick two leastfreq characters say y and z
Remove y and z from S and P

Add a new letter w to s s.tt wprob w probly prob z

Call uprated lists s and P

Tweet't Algo s P 05

Obtain tree t by replacing leaf w by a
node

with children y and Z

Return T
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